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STATISTICS
(General)
Full Marks — 40

Time — Two hours

The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.
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1. Answer the following as directed : 1x4=4
e fraicER RoAET Set SRt 8
(a) State true or false : GRR > NRR.
ot 7 = et 8 GRR > NRR

(b) Define sampling distribution.
AfopTm 67 A v |

(c) The value dc correlation coefficient lies
between and . (Fill in the blank)

ST QN T i T Wrere
P | (AR 2B 7 =41)
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(d) State any one property of regression
coefficients. :

e @cﬂmﬁ @I GGt @Y

Answer the following questions : 2x3=6

EE TR0 Tl Tl 3

(a) Distinguish- between Parameter and Statistic.
aivel S elfewfem e sl o)

(b) Define multiple and partial correlation coef-
ficient.

@ HEATE BN N FEHS ATTT QST
gea &t

(c) Define general fertility rate and total fertility
rate.

Al SIS QT T P Tl 7R Fews! |

Answer any two questions from the following :
- o] U @Ien g5 oig Tes fR| 8 5x2=10
(a) Show that (with usual notations)

mye @ (enflere Bzow)
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(b) Calculate the gross reproduction rate (GRR)
from the following data assuming that the
proportion of female birth is 46.2 percent.

(AT TR See 46.2 *eieet 3 4R oo
e SYRFT IRC A 2o W Sferedl |

Age group | No. of women(in '000)| Total birth
T YA W WY (AEES) | T R
15 -19 16.0 260
20 - 24 16.4 2244
25- 29 15.8 1894
30 - 34 15.2 ' 1320
35 - 39 14.8 916
40 - 44 - 15.0 280
45 - 49 14.5 145
Total L Sl | 7059

(c) In a sample of 1000 people in Delhi, 540 are
rice eaters and the rest are wheat eaters. Can
we assume that both rice and wheat are
equally popular in Delhi ?

" SRPTR 1000 = @5t afewfa Sre 540
o ©iT Adel WiF e+ Ade! BHiE
coliat 2 | 3T fofes il 9 < (7 @ ©i©
i Fo TRRGIR Ao TN S 2
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(d) Write short notes on any wo : 2V6%x2=5
5y G vt (R e @

1) Age'speciﬁc death rate
] Wwme T 29

(ii) Uses of t-statistic
t-ofonien T2

(iii) Null hypothesis and alternative hypo-
thesis.
e oon s e o]

4. Answer any fwo questions from the following
oo & GG wht ek Tew IRt ¢ 10x2=20

(a) What is a life table ? What are the
assumptions on which construction of a life
table depends ? Describe the construction of

a life table and mention some of its uses.
24+2+4+2=10

&g wifes & o G fo gRelE fofo® @i GRA
@mmﬁ@W?mwﬁmamm
ST SN T S TR (RO AT

SrEd 4|
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(b) With usual notations, fit the plane of

regression of X, on X, and X, as
X = b12.3 )C’_ + b13.2 XJ

1

AT IS Bz X, vo X, wie X F
SIS IS oo A=A X, = b
X2+ b13.2 X3W@?‘T 390

12.3

(c) Either,

The height of 10 males of a given locality
are found to be 70, 67, 62, 68, 61, 68, 70,
64, 66, 64 inches. Is it reasonable to believe
that the average height is equal to 64 inches ?
Given that t ., = 2.26.

. Bt TR 10 & 7551 Tooel wete Ml 499

ot T 8 70, 67, 62, 68, 61, 68, 70, 64,
66, 64 2B | (OSETFI AT Tl 64 Ik IFH
R O ANEN L W owiem @
t 5= 2.26.

Or/ wiza

Define y’-statistic. Derive expression for x?
in the following contingency table. Write
down two uses of y? statistic.
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A e uw | were fra I{barenh wiEke
X F AR TG R 9 =% 427 451 9%
ferat |

(d) Write explanatory notes on any two :
. 5x2=10

AR G BT’ e 5ot o
(i) Net reproduction rate (NRR)
U4TS UGN TN

(ii) Type-1 error and Type-II error

Ay FNRHT F0 e Bow @NRHS
Kol

(ili) Applications of F-distribution
F- 671 3939

(iv) Principle of least square.

Tes I5f TS |
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